APPENDIX

EXAMPLES FOR CALCULATION

Chapter: 2.3 Flat Heads

The significance of the individual letters can be seen from Fig. 2.1.
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Chapter: 2.5 Spherical Shells

The significance of the individual letters can be seen from Fig. 2.1.

R = 1000 mm E = 2.10° N/mm? pi = 50 bar
t = 20 mm w = 0.3 T, =T,
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e = B Q + ERL (2.13)

A =PB-R = 00091000 = 9 (2.14)
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Chapter: 2.6 Cylindrical Shells

The significance of the individual letters can be seen from Fig. 2.3. For the long cylindrical
shell is
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1

1

w, = + -M
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Chapter: 2.9 Rings
The significance of the individual letters can be seen in Fig. 2.6.
1, = 1200 mm S = Sg = 20 mm p; = 20 bar
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h - rf(aL - ar) ri(ra + ri)
+ p +
4ED, 2E(r, - 1)
2
2C 2C L (aL - aR)
e, = C- +=. M -C- - == . M, + p,
L QL h L QR h R p1 ZEDR
wg =(-A+B)-Q -C-M +(A+B)-Q +C- M,
—h - t*a, - a rr, — r
+ p i (aL R) 1( a 1)
i 4ED, 2E(r, - 1)
0, = 0,
3 3
D, = L % =30 1209 g 105 [mm]
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a = (r+ ) [rL . S_L] _ (1200 + 1000) (1000 N @] — 90 [mm] (2.41)
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Chapter: 4.5. Dimensioning of Flanges Using the Deformation Calculation

The significance of the individual letters can be seen in Fig. 4.14.
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d; = 1000 mm Sg = 20 mm E = 2-.10° N/mm?
dp, = 1040 mm hy = 80 mm L = 03
d, = 1100 mm Fs = Fp, d. = 22mm
dp = 1160 mm Fp = F =0 t = 66 mm
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